
M12x80BOLT, HEX M12x80 - St8.8 Zn50.1112080216

M12NUT, HEX M12 - St8 Zn60.0100012215

M 12WASHER M12 - St.Zn70.0100012414

M8NUT, HEX M8 - A260.02000081213

M 8WASHER M 8- A270.02000081212

M8x20BOLT, HEX M8x20 - A250.12080201211

 HAND GRIP WHITEE0017926210

 TOW BAR WITH EYE MAGN SWEEPERE001784319

 LIFT ARM MAGNETIC SWEEPERE001741328

 FRAME MAGNETIC SWEEPERE001741517

M10x25BOLT, HEX M10x25 - St8.8 Zn50.111002546

ø20 - 74BAR RND ø20f8   AISI 304E001738745

 EXTRACTOR PLATE MAGN SWEEPERE001732424

 ASSY MAGNETIC SWEEPERE001741423

M16x25BOLT, HEX M16x25 - St8.8 Zn50.111602522

 ASSY WHEEL 400x8E001731221

DimensionsDESCRIPTIONPART NUMBERQTYITEM

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

3-6-2014

A2

FS

Description:

Date:

Drawn:

Extra info:

 All rights reserved. Reproduction is not permitted without
written permission of GOUDSMIT Magnetic Systems BV

ISO268; ISO1101; ISO2553

ISO 2768- mK

MAGNETIC SWEEPER 1600

Sheet:

Drawn according:

General tolerance:

E0017327

Part number:

Spare part:

Weight (kg):

File number:
Quick search:

Status:

Customer reference number:

B

False

395,8

Released

E0017372
SWEEPER

1

QTY MAT. NUMBER MAT. DESCRIPTION LENGTH (mm)

RAW

MAT.

WIDTH (mm)

Rev:

B

Rev:

REV DATE BY DESCRIPTION

-

24-6-2014 FS ORGINAL DRAWING

A 2-7-2014 FS WHEEL DIAMETER CHANGED

B 23-9-2014 RM FS: NOTHING CHANGED

8
8

1750

40

R50

790 790

4
5
7

Ø

2
0
4

645

5
3
5

1449

1609

3

7

11

12

13

4

8

1 65

10

16 15 14

9

2

9
5
4

1882


